rphi mpact parameter - gm

120
0.01p
Toy Model = i
100 0.009F—5
-nDi o~ Toy Simulation - FULL SIMU
CDR-pion : 0.008f— |
| Toy Model - No BP = :
80 .\\ o 0.007f~ § - O Pions
\\ +- STAR Simulation oooef— | o Kaons
= A Protons
60 \ 0.005}— 3 :
. 0.004 S—
N NN :
40 N e 0.003f
e -
.-:.'"'-__j_i}‘ _‘;“_—~_ — 0.002—
e e S e :
A -y T tm=—= 0.001F-
- | | PR
% 1 2 4
0 Momentum B x p (GeV/c)
0.2 04 0.6 08 12 14
Pt-GeVic

v L Ty

\beta*mom=0.625 for a kaon with mom=0.750

This gives r-phi resol. ¥35micron
Assuming thick is factor of two (is less but) then

Thick will be sgrt(2)*35=50 micron

| won’t guarantee these numbers if the SSD and/or IST are not there!!!!




